D Y L. ENTIRE
GROUP I MAIN - 2023

MENSURATION - 2D (AREA) WORK SHEET

SCHOOL BOOK SOURCE

Class

6 3.1to34
3.1, 3.2
MENSURATION 2.1

-2D (2.1 to 2.4) both

21,2.2
21to24
4.1

FORMULAE (&gglpmisen) :

Square (ggiyLb)

o Area (ugliuerey) = a2

e Perimeter (smmena)) =4a

e Diagonal (epemevail Lib) = av2

Rectangle (Gg6ii6usid)

o Area (ugliuerey) =1xb
o Perimeter (mBmerey) =2x(1+b)
e Diagonal (cpenevail’ L D) = JI?+b°

Triangle ((pd@smewib)

o Area (ugliuerey) = % Xxbxh

e Perimeter (sBmere)) = AB+BC+ CA
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o If A(X,Y,) B(X,,Y,) andC(x,,Y,) are the vertices of a AABC then the area of

1
the AABC is E{(X1y2 + X, Y5 + X Y1) — (XY, + XY, + X Y5)}

Right angle triangle (QgmiBsmemt (p&CamemniLd)
e Area (uyliLeTey) = % xbxh

e Perimeter (sippeney) = (base + height + hypotenuse) (omgussb + 2 wigb

height (k)

B base (b)

Equilateral (gwuds (wsGsmeniib)

o Area (uylierey) = % a2, where (+/3 =1.732)

a

e Perimeter (ammene)) = AB + BC + CA= 3A; Altitude = h = ?

units
A

B a C

Isosceles triangle (8 Fwuss (YPo@HmemiLd) N
e Area (uyliueney) =hx W
e Perimeter (ammeney)  =2a +2./a*-h’ v
Scalene triangle (91510 uss (P&HBHMERILD)
o Area (ugliueney) = \/s(s —a)(s—b)(s—c) Where S =

a+b+c

o Perimeter (spperey) = AB+BC+CA=(a+b+c)
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Rhombus (gmuiFgiyid)
e Area (uyluete)) = % x d; x d, where d;, d; are diagonals

(cLpemevailL L LD)
e Perimeter (sBmere]) =4a

Parallelogram (@enemisyib)
e Area (uyliLeTey) =bxh
o Perimeter (sBpeney) =2 X (a+b)

Quadrilateral (®BriayLb)

o Area (ugliLerey)

e Perimeter (smmenay)

Trapezium (gifleusLd)

e Area (ugliLerey)

e Perimeter (smmenay)

Concept Summary:
The central angle of a circle is 360°.

Perimeter of a semicircle = (7 +2)xr units.

2

r .
" sq. units

Area of a semicircle =

The central angle of a semicircle is 180°.

Perimeter of a quadrant (%+ zjx r units.

zr?
4
The central angle of a quadrant is 90°.

Perimeter of a combined figure is length of its boundary.

A polygon is a closed plane figure formed by 'n' line segments

Regular polygons are polygons in which all the sides and angles are
equal.

Irregular polygons are combination of plane figures.

Area of the circle = 7r’

Circumference of the circle = 2zr
Covered distance _ sLb5 Ogmensvsy
Perimeter (B B6T6
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Area of a quadrant = =——sq. units.

No. of revolutions =




Sector (eulLGasmewill LGH)

Area of the sector (e’ L Gasmewit LGHuler L) :3690°MR

R = Radius of the circle (o L &1 Syyid)

[e]

Arc length (1) = (eu Lelevellest Hemd) = 3;59 x27R
Perimeter of a sector =1 + 2R

Length of the arc of each of the sectors = %xZ;rr

Area of each of the sectors = % x7rr?

Area of the triangle,

1 .
= = E{Xl(yz = ¥3) + % (Ys = Y1) + %Y, — ¥,) sq.units.

Area of the quadrilateral:

= —2 {04 %) (¥~ ¥)~ (%~ X) (- ¥,) sq. units.

MENSURATION - 2D WORK SHEET

1. Find the perimeter of the given figure.
OBTHHBLILLL  UQAISHIHHT FDBM6NE)| SHT60IH.
Solution
Perimeter = Total length of the boundary
=6+2+10+3+2+1+3+4+2+6+9) cm
=48 cm

Find the height 'h' of the parallelogram whose area and base are 368 sq.

cm and 23 cm respectively.
ugliene) 368 &.05.15 LBBID Sigliudsd 23 CF.15 DemeyseT 6EHTemIL
BB THH I © UITID HT6wIsH.
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solution:
Given: Area = 368 sq. cm , base b =23 cm
Area of the parallelogram = 368 sq. cm D 23cm

b x h =368 Y/

23 x h =368 /o ,
h=3ﬁ=16cm : ’
23

Thus, the height of the parallelogram = 16 cm.

The floor of an office building consists of 3000 tiles which are rhombus
shaped and each of its diagonals are 45 cm and 30 cm in length. Find the
total cost of polishing the floor, if the cost per m?is Rs. 4
RT SeIsd &lgLd Hogulled 3000 agruissy eaugeleomer  g@bBsHei
ugHBsLILL (Hetener. @BHeM6T cpenevall L mibeier Siemayser 45 GF.15 wBsIb
30 Qg5 erafled, SHemgeduwl OWHILLF FHTOLLHBG X 4 oipd CTHHSF
OF6VEM6USD  SHITET.
Solution:

Given, the length of the diagonals of a rhombus shaped tile are 45 cm
and 30 cm

The area of one tile = = x (dix d») sq. units

=%x45x30

=675 5q. cm
Therefore, the area of 3000 such tiles = 3000 x 675
= 2025000 sq. cm

2025000 _ _
0000~ (1 sq. m=10000 sq. cm)

=202.5 sq. m
Therefore, the cost of polishing 3000 such tiles at the rate of X 4 per

sq.m=2025 x 4="810.

The area of a trapezium is 600 sq. cm. If sum of the lengths of its parallel

sides is 60 cm, find the distance between them.

uglitene) 600 &.05.15, SewIlLSS DIeMTaH6T dnbBHe0 60 CF.15 OCsTemiL
FlloausSHH 6 © WTHMDH HT6HIH.

Solution

Given, Area of the Trapezium= 600 cm?

%Xh(a+b)=600
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%x h (60) = 600

%xh(60) = 600

h (30) =300
= 600

30
h=20cm

Therefore, distance between the parallel sides = 20 cm

The diameter of the wheel of a bus is 70 cm. Find the distance covered by
the wheel in 24 complete revolutions.
M Cumbdlar gha7dHH6r all L 70 OF.5. 24 (prpenowliTer HLPBEH6r60
FHBID HLHH OF60VID HMTHNDHDH HTCWIH.
Solution:
The distance covered in one revolution
= the circumference of the circle
= 2 zr units

=2 x 2x35
7

=2 x 22 x5
=220 cm

Total distance = 220 x 24 = 5280 cm.

A circular shaped gymnasium ring of radius 35 cm is divided into 5
equal arcs shaded with different colours. Find the length of each of the
arcs.

35 QF.10 SuIpeTen el L algalevTel MIDeITovgdh  QIGNGTUILDTEIHI 5  FLD
LLIRIN alB&HenTaLl W% AN TG GleuaiGeum) HIBHISH6N6V
oueuTemTLOLLILIL (BeTTeN&l. 6160TleD, 66lGleuT(H 6ul L @leLeVlel [HETHMBUID HTEwISH.
Solution:

Length of each of the arcs, [ = %x 271 units
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:lx2>< 7x35
5

=14~ cm

Find the central angle and area of a palm leaf fan (sector) of radius 10.5
cm and whose perimeter is 43 cm. (7 = %)
o 105 Q&5 1o@Bmld  Smmeney 43 OF.6  SleNeHeT OHETEWIL @
LeneBuimensy  aldplullen emowIEGamentD OBBILD LFLILeTmeUsS &Tews. (7 =
22
2
Solution:
Perimeter of the palm leaf fan= 43 cm
That is, [+2r=43
[+2x(10.5) =43
[=43-21
the length of the arc [ = 22 cm.
90

Length of the arc [ = 2600 2" units

o° 22 15
22 = 2x=2x 1075
360°X x/x

©360°

= ¢° =120°

Also, area of the palm leaf fan

A= IErsq.units

_ 22x105
2
A =115.5 cm? (approximately)

8. The area of a circular playground is 22176 m2. Find the cost of fencing
this ground at the rate of 50 per metre.
Q0 el L alewemum’ (B eoHTardhHer UFlilene] 22176 1S Su@b. @b L (hdES
350 aipd BHFH MFHTarEH0 Galed SIIILSBHTET CFevemald SR NIULIa|LD.
Solution:

Given,

The area of the circular playground = 22176 m?
And the cost of fencing per metre = X50

If the radius of the ground is taken as r.
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Then, its area = mr?
nr2 = 22176

12 = 22176(27—2) = 7056

Taking square root on both sides, we have
r=84m
We know that the fencing is done only on the circumference of the ground.

Circumference of the ground = 2nr = 2(27—2) 84 =528 m
So, the cost of fencing 528 m = 50 x 528 = %26400

Therefore, the cost of fencing the ground is < 26,400.

The area of a trapezium is 352 sq. cm and the distance between its
parallel sides is 16 cm. If one of the parallel sides is of length 25 cm then
find the length of the other side.

uglieney 352 F.05.15 1oBBID  BmH  S»enIlILSSHIGEHGHH L Guiuiment
OFTemeve] 16 OF.15 OHTWIL FleubHHewT NIl LIbSHMIBH6M6D  66vinslest
Sleey 25 GF.15 ereney, LBOBTEIENMBES HTEWIS.

solution:

1

1

1

1 —

1 © 3592 sq. om
1

1

1

1

'l

A 25 cm

Let, the length of the required side be ‘x” cm.

Then, area of the trapezium = %xh(a+b)sq.units

= =x16(25+X) )

=200 + 8x
But, the area of the trapezium = 352 sq. cm (given)
Therefore, 200 + 8x = 352
— 8x=1352-200
— 8x =152
_ 152
I
= x=19
Therefore, the length of the other side is 19 cm.

= X
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A horse is tied to a pole with 28 m long string. Find the area where the

horse can graze.
QM &Iy 28 15 pHenweTen SWIBBIEITED @h SOUSHH6L S LI (BHeTeNnl.
GFHemy Cuwsamigul HIFSULF LUGH Ul LTLILIeTen6 SHT6mIH.

Solution

Length of the string (1) =28 m

The area the horse can graze is the area of the circle with a radius equal
to the length of the string.

We know that

Area of a Circle = nr?

= g><28><28
7

= 2464 m?
maximum area grazed by the horse is 2464 sq. m.

A rectangular grassy lawn measuring 40 m by 25 m is to be surrounded
externally by a path which is 2 m wide. Calculate the cost of levelling the
path at the rate of Rs 8.25 per square meter.

40 15 25 15 Semelelen OFeleusd v LevOedel 2 15 SiHevd OBHTens
UTenSHWITe0  Geueliiymoned Gl BeTendl . @b FHIJ WL (G 5.8.25
aipld LUTenHenul Floel OFUIUSBHTR OFevameud SHewTsha (6.

Solution

L am

L

P ol

)
-

Let PORS be the rectangular grassy lawn and let length = AB and
breadth = BC

Given Length PQ = 40 m and breadth QR =25 m

Area of lawn PQRS = 40 m x 25 m = 1000 m?2

Length AB=(40+2+2)m=44m

Breadth BC=(25+2+2)m=29m

Area of ABCD =44 m x 29 m = 1276 m?
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(APR& 11|

CHENNAI

Now, Area of the path = Area of ABCD - Area of the lawn PQRS
= 1276 m2 - 1000 m?

= 276 m?2

Rate of levelling the path = Rs. 8.25 per m?

Cost of levelling the path = (8.25 x 276)

= Rs. 2277

12. A silver wire when bent in the form of a square encloses an area of 121
sq. cm. If the same wire is bent in the form of a circle. Find the area of the
circle.

R Oeuetelld &b euemendSUILL{H FHIOTS OMHBBID  GuTgl, DIHTT60
SwLLUBLD uGHuler ugliuene] 121 F.05.10 96% OGeusTealldsbdll el L 1OTS
AUMNMSHILIBGS B 6Telle0 6UL L ST LITLILIGTE| 61656017
Solution
Let a be the side of the square
Area of the square = 121 sq. cm. (given)
a2=121 = a=11cm (11 x 11 = 121)
Perimeter of the square = 4a units
=4 x11 cm
=44 cm
Length of the wire = Perimeter of the square = 44 cm
The wire is bent in the form of a circle
The circumference of the circle = Length of the wire
circumference of a circle =44 cm
2zr =44

2x§xr=44

44 x7
r e
44
r=7cm
Area of the circle = 712

=gx7><7
7

Area of the circle = 154 cm?2.

A circular pond is 17.5 m is of diameter. It is surrounded by a 2 m wide
path. Find the cost of constructing the path at the rate of Rs 25 per m?2.
Q0 eI L eaugeu @Genb 175 1§ allLld OTewiLgl. &H 2 15 DIH60OT6T
LUTenHWITed  FHIOULL (BeTengl. @b 15*  && h25 6B  aidHhdHed LTS
SIMIOLILSBHTT CFeUMEIDH SHT60ISH.
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Solution

Diameter of the circular pond =17.5 m

Let r be the radius of the park = (%) m =8.75m

The circular pond is surrounded by a path of width 2 m.

So, Radius of the outer circle = R = (8.75+2) m =10.75 m

Area of the road = Area of the outer circular path - Area of the circular
pond

= mr? - nR?

=3.14 x (10.75)2 - 3.14 x (8.75)2

= 3.14 x ((10.75)2 - (8.75)2)

=3.14 x ((10.75 + 8.75) x (10.75 - 8.75))

=3.14 x 19.5 x 2 =122.46 m?2

Hence, the area of the path is 122.46 m?2.

Now, Cost of constructing the path per m? = Rs. 25

= cost of constructing 122.46m?2 of the path = Rs. 25 x122.46 = Rs. 3061.50

A key-chain is in the form of an equilateral triangle and a semicircle
attached to a square of side 5 cm as shown in the figure. Find its area.
(7 =3.14,A/3 =1.732)
R FTAH0BTHITOH 5 CF.0 USS leTaeTen FHTHIHIL AT @(H FLOUSD
(WP&HEHTEMHMBSUID,  @T DD UL HOSUD 2 eilenieuTml  SenewisHdl
® _(HeUTHELILL BH6Tengl 6Tafled SDIHT LITLILIGTENaUS HT6awd. (7 =3.14,+/3 =1.732)
Solution:
Side of the square =5cm
Diameter of the semi-circle =5cm
Radius =25cm
Side of the equilateral triangle =5 cm

¢ ‘éi

Area of the keychain = area of the semi circle + area of the square
+ area of the equilateral triangle

= 17zr2+a2+£a2
2 4

= [%x3.14x2.5x2.5)+(5x5)+(§><5><5}

=9.81=25+10.83
= 45.64 cm? (approx).
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Three coins each 2 cm in diameter are placed touching one another. find the
area enclosed by them.

2 Qg0 el LpenLul CLPGIT ] [HIT6O0TLLIMRIH 61T QEITEMBEEITB ARG
SIMLSBLILIL(BHeTendl. 6leNed Seummmed Sl UGB LGHullet ULy eTedreo?
solution:

In the figure, ABC is an equilateral triangle.

o,

T_Y.‘"_"‘ B \

: A eiB
( ,

-7

Area of an equilateral triangle = ——xa

3

= —x2x2=+/3
4><><\/_

ZA=/B=/C=60° (- The triangle is an equilateral)
Area of one sector = o x 22,1, 1=22
360° 7

Area of three sectors = %x3=171=1.571

The area enclosed by them =1.732 - 1.571
=0.161 cm?

5 Marks

1.

area = 62.5 m? base = 25 m. Find the height of the Triangle?
ugliueney = 62.5 152, oueliusbsid = 25 5 O@mewiL  (WEHGHTemidHdle 2 Wiy
616016017

. The area of a quadrilateral is 54 c¢cm?2. The perpendiculars from two

opposite vertices to the diagonal are 4 cm and 5 cm. What is the length of
this diagonal?

RH BIBSIHH UFlilene] 54 F.162. SiHear & o FAuledmba  LHe»6D
Al LSHFHMES euemgwiliu@Bd OFRIGHHer bHenmmider 4 g6, 5 OF.15 elelev
eLPEMELAIIL L SHH 6T HemGILD6IT60T?

. The base of a parallelogram is thrice it height. If its area is 768 cm?, find

the base and the height of the parallelogram.
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R(H B IHHET DPLILGHSH DHET 2 WFHmSLIGUTED (6Tl  LOLHIG,
ST Uglilene] 768 QFLS  elelled, GmeNIETHI  DIQLILGHSH  LOBBID
2 WTHMBHS SHT60Ib.

. If the area of a rhombus is 112 cm? and one of its diagonals is 14 cm, find its
other diagonal.
gnuIsFgHyb @amer ugliuene 112 & G518 o161 @ cpemevall Lib 14
O0F.15, WBOBTH cpemev AL L SIS DI66)] HTEWIH.

. The area of a trapezium is 540 cm?. If the ratio of parallel sides is 7: 5 and

the distance between them is 18 cm, find the length of parallel sides.

R FfleusdHer ugliuene] 540 OF.15°. Hewewt LSIHIGSIGT alHlHD 7: 5
5D SuBBISSmL Cuuwimer S 18 QF5 SuFa|d SHHIHTEL, Senent
LIS BRIBT N HeTHenDHd HT6wIH.

. The diameter of a wheel of a car is 63 cm. Find the distance travelled by
the car during the period, the wheel makes 1000 revolutions.
&M FearHHe all L 63 6518 o5 1000 s&mpiseT SBSlenmed &L @b
OBHTEMEVENEUDH  BHITCITSH.

7.5 Mark
1. If the biggest circle is cut from a square of side ‘a’ units, then what is

remaining area in the square? (;r = %)

'a' 9I0G USD SleNeyelel @H FHITHHIHHEH WsIEUiw eIl L Hog
QUL 19QUIBHSHBT6V, LBH(LpeiTen LiGH U6 LITLILIGNG) 6T6oT601 7. (n:%}

2. The sunshade of a window is in the form of isosceles trapezium whose
parallel sides are 81 cm and 64 cm and the distance between them is 6
cm. Find the cost of painting the surface at the rate of X 2 per sq. cm.
m aHogrefl  wenpliurer  (sunshade) @mswvusss sfeus eaugaied
® 6lTeNGl. DIHIT Bewenililbd Slemeysel (WpedmBw 81 GF.15 wBmb 64
OF.18 Pt 2wy 6 6F.16 eefled, SIIUFlmU euewienlOL @ &F.0F.16
&5 X 2 olpld YGIb CFevemeld TS,

. A copper wire when bent into an equilateral triangle has area 1213
cm?. If the same wire is bent into the form of a circle, find the area

enclosed by the wire.

R OF0y &b aumendslul’ B Fouss (WPSHCHTewoTs  wIBpid  Gurg,
LIFLILIGGY] 121N3 &.08.18 918 OFly &bl el LIoTs  aleneaTdHSUILGSBSI
oIeNed  9IHET6L DML LIBLD LGS Hulest LFLiLene]?
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4. A sweet is in the shape of rhombus whose diagonals are given as 4 cm
and 5 cm. The surface of the sweet should be covered by an aluminum
foil. Find the cost of aluminum foil used for 400 such sweets at the rate

of X 7 per 100 sq. cm.

QT ey eumad FTUIFHIT 6alQaled o 6TeNEHl. DIH6T (Pened el L mIGe6I
wopBGw, 4 0515 wBpw 5 g8 Gellder GuoBuyln] (PLOEUSID
Oevelwl jeulefulds &olLTed el Geuewi(hd. 100 F.05.18 &g I 7
aiplb OCrdHHd 400 Beflliysamen Siideluld SHBHLLTED (L 616161616
CFevauTGLD?

. The length of a chain used as the boundary of a semi-circular park is
36 m. Find the area of the park.

S UL LU YhSTaler 660eneowTdll LWeTUBGSHSUILGLD Fhidlelules Herd
36 1 eTedlled L mISTalel LIFLILISTene SHeuil miUieyLb.

10 Mark:

An advertisement board is in the form of an isosceles triangle with
perimeter 36m and each of the equal sides are 13 m. Find the cost of

painting it at X 17.50 per square metre.

B Fouss (PHCHTemt algaladelen @ alembuyll LevensUle SFBmene] 36
0 BBID FHT  RAUCUT(H FIOLUSSHHET Hemd 13 15 Y@Sb. DSBS
alewiewild UF @@ FHT B LmEG X 17.50 aisd ou@b OFevemeld HTewis.

A ring shape metal plate has an internal radius of 7 cm and an external
radius of 10.5 cm. If the cost of material is X 5 per sq. cm, find the cost of

25 rings. (7 = %)

AL euemenwl 2 BGeursHIHelr o 61 au' L b 7 GF.10 Geuel UL  SuLb

10.5 Qg8 @ gay WLT o Guriadsdidsd < 5 aislb OFealrelme, 25

. . . . . 22
QUEMETWID QFUILl QUG CFemeas HTENTS. (7r=7)

A rectangular hall has 10 m long and 7 m broad. A carpet is spread in the
centre leaving a margin of 1 m near the walls. Find the area of the carpet.
Also find the area of the un covered floor.

GFeleus algel auFGeum oempuiler memd 10 16. oimevd 7 16, Geufled(mHbal
o Lypwrd 1 1§ SaidHEill UsSHISeNed alliul @G  oenpulle HHale0
seoogalfiiy  Gumiiu@dmpa. oy  alfiidler ugluerey sTewis.  GguD,
SFalfliiumed epLULTSH UGSHulest LFLILTOD SHT6ewIb.
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4. A 14 m wide athletic track consists of two straight sections each 120 m
long joined by semi-circular ends with inner radius is 35 m. Calculate the area

of the track.

14 5 9®6v(peiien T @b Henll UTenGWmengdl 120 15 Henpeiten @gewi®y GbiTL
LUGHBmeTuD © 6T UIb 35 15 Sleneelien &H SiewJ Ul L L LGHBHm6TuLD
Oameni(helTengl. DbdH @b UTenGHUlle UTLILTm6ISH HemToha(Hb.

A paper is in the form of a rectangle ABCD in which AB =20 cm and BC
= 14 cm. A semicircular portion with BC as diameter is cut off. Find the area of
the remaining part.

ABCD a3 OQgaieus augaieorenr @ Hremer Seneser AB =20 g5 BC
= 14 G185 eae1 2 etener. BC & ol LiTdd OBTHIL QM DID]T

Al LIUGg  1He0mbal  Oeully  aheHSIUBHBSEH.  elehdlueiten LG SHuUller
LUTLILIGTEN6US  STEmIS%.

15 Mark

1. A rocket drawing has the measures as given in the figure. Find its area.
QT gaybenewiuilledl LILOTeIS), ULSHH60 OBTHHSLILL(BETeneUTn D66 Henernd
O@TemIBETeNGEl. DISH6IT LITLILIGTEN6US SHT6uI.

>

—120cm——mmmm1

. (A) Find the perimeter and area of the shaded portion
Bl L U@GHulest SFMmene WBMID LFLILIETe)| HTewrsh.

! E

D

(B) The sides of the triangular ground are 22 m, 120 m and 122 m. Find
the area and cost of levelling the ground at the rate of X 20 per m2

Q(hH (WHCHMeml algel HlevdhdHer LSRG (WewmpBu 2215, 120 15 wmmd 122
15 eTedfled euwieVlest LITLILIeTen6US HewidbaHl(BHd. Gosvld auwIenevdF FIOULBGSHS @
gy B LmBG I 20 OQgeaun@ld eleiled, aIwmevF FIONUBHSH DLGID
CTHHF OCFeveneud HewTdhD (BHSb.
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3. Four horses are tethered with ropes measuring 7 m each to the four
corners of a rectangular grass land 21 m x 24 m in dimension. Find
(i) the maximum area that can be grazed by the horses and

(ii) the area that remains ungrazed.

21 5 menpd 24 15 oEev(pld GdTewiL  Le0GeueTuled BT6NEG cLPEDEVH6NTGVID
7 5 menpeten sUIBBTeL BTIE GHSHMIH6T S L LILIL (HeiTermeor. 61616,

1. FHewrsen Guoujb SIHSULF UFLIL

1. GFHeorseT Guowngd UGHUTeT UTL] SEBUITAINRMBES  HT6wIH.

. (A) Find the area of the shaded portion in the following figure (z=3.14)
ULSSHe0 BHiped L’ L uGguler uglin smewr ( (7 =3.14)

(B) Find the radius, central angle and perimeter of a sector whose arc

length and area are 27.5 cm and 618.75 cm?respectively.

allevedledr  mHembd 27.5 O&.16, ugluene 61875 &.05.15 OsmewiL UL &
Camewiiu@dHullesr SuIb, emwwISECHTeID IBBID  FMBBeTe] LB UIAIBENBES
SBITE0I .

. (A) Three identical coins, each of diameter 6 cm are placed as shown.
Find the area of the shaded region between the coins. (z=3.14) (J3

=1.732)
alCeuaipitd 6  GF.6  ellLpeTen (pSIB @6HFH [HTEOIWHIGET LI GHH60
SMLIQU|6ITeTeUT M 606USBBLILIL (H6IT6ITEUT. [BITGUOTLIMISGETHE G BemL_uled
QLU Beien  BpedL i’ L ugduler ugliueneneud srewis. (z=3.14) (3
=1.732)

(B) Two gates are fitted at the entrance of a library. To open the gates
easily, a wheel is fixed at 6 feet distance from the wall to which the gate
is fixed. If one of the gates is opened to 90°. find the distance moved by
the wheel (= =3.14) .

QH HTVSSHH6 HiwpalTuledled @renwih SHAUB6T  CQUTHSHBLILIL (BeiTereT.
sHalenern 6leMHed HBILSBHTH, DG CQUTHSSLILL Beitenn  FeuBplel(HbdH 6
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CHENNAI

ol HMTSHI60 SHalel SPLILGHUTD P FHSID GCLTHSSUILLBETENSHI. Qb
aFHalmenr 90° enalBEdH FHBHGWOUTIDHI FHEHTD 61666 BT HMHD
sLEGD (7 =3.14).

(Previous Year Questions)

Four horses are tethered at four corners of a square plot of side 63 m so
that they just cannot reach one another. Find the area left unglazed.

63 15 uUSHD OFTENIL FHJ WU BTG (LPDIH6MED, eaTenBOEILITEIN)
OBHRSTHLY BTG GHMIH6T SUIBTEL  SLULLILUL (BTN (& HenTH6IT
Guwitgd UG Hulet UFLILIGT6)| HT6wI.

(DEO, 2015, Section 8 Mark)

A circular swimming pool is surrounded by a concrete wall of 4 ft wide.

It the area of the circular wall surrounding the pool is %that of the pool,

find the radius of the pool?
R UlL elgel BHFFEL 6N, 4 g DIHEV(PEML U SIS FeuFmeD
G (BeiTengl.  BHFFL  GHNHmHF a&mml o eten  Seufledt  LFLILTEISI,
P P N | . W p s . .
GONSH BT LTI 6ot E@uqbasasa) oTeulley, GHONHHGT DJID HT6EWIH.
(GROUP 1, 2016, Section 3 Mark)

An equilateral triangle is described on the diagonal of a square. What is

the ratio of the area of the triangle to that of the square?
QM FHTHDHT cpenev L SHH6 1H I FoUHS (LpSHEHTewiD euemFUIL
UL (Beitengl. FHTHBIL 601, (WHCHmewt LFLiLeNale alSHHD wng?

(GROUP 1, 2015, Section 3 Mark)

The diagonal of a rectangle is 17 cm long and its perimeter is 46 cm, find

the area of the rectangle.
R OFalausHH6 cpenevall LD 17 0F.10 SiHet FMmene) 46 6F.0 erelev
SISHET LITLILIGT6N6US  SHT6u15b.

(GROUP 1, 2016, Section 3 Mark)

A cow is tethered to one corner of a rectangular field of dimensions 60m
by 40 m by a rope of 28m long for grazing. How much area can the cow
graze inside? How much area left ungrazed?

Qgeieus angaleomer 60 m x 40 m uflioTewid O&TEWIL  HeTHHO @(H
apeweoutley @ usk  Guouieugmsts 28 15, men(peiten  sulmpsleunmey
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s LU (BeTengl. omlh HendHer o L ymors Guwujd ugliuerney eleier? TG
Guowirg HensHHlen LITLILIeT6| 616316017

(GROUP 1, 2012, Section 5 Mark)

In a right - angled triangle the hypotenuse is 242 times the length of the
perpendicular drawn from the opposite vertex on the hypotenuse. Find

the other two angles.

m Ogmlasrent  (1PpHCaTeaidHed  OCFmBsrandsHBE  adHfled 2 elten
LSBSHH N HeNoTeidl, Db LSHHIHBEG 61Hifed o eten o FFluled SHbHa
b LUsHHHBEG aumTUlILGD CFmGsTl e Bersamsi GuTe 242 1L EiE
olenle0 omm BJewi(h CHTeIMISENETUID HT6HIH.

(GROUP 1, 2008, Section 5 Mark)

Find the area of the square ABCD given in the following figure:
UL SHHe0 o aiten b ABCD-6i1 Liplienu smeuis.

(GROUP 1, 2009, Section 1 Mark)

In the following figure, AB = 10 cm, BC = 15 cm, AD : DC = 2 : 3 then
find ~ABC

&Bp o eten AB =10 cm, BC =15 cm uLgghev Guosond AD : DC =2:3
oTefled LABCE&H HTewIHh

c

(GROUP 1, 2009, Section 3 Mark)
The diameter of the wheel of a bus is 140 cm. How many revolutions
per minute must the wheel make in order to keep a speed of 66 km
per hour?

B
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@Uh U FEIIHBH el LD 140 GF.18. e wewl GCrrHaHled 66 &b
Cousdhmsd HHH maudHH FEHBID @bld Curd asHHmed  FHPBFABET @
BIAL 5360 gBUBSSID?

(GROUP 1, 2017, Section 3 Mark)
If each side of a square is increased by 25%. Find the percentage change
in its area.
FHPSHHST Dlemanddl LSSEIBEHD 25% ainsHed DIHBOTEITED, LIFLILI6TET6

FHNDH LOTBBHMS HTEWIS.
(GROUP 1, 2017, Section 8 Mark)

The area of a trapezium is 160 cm?. If its parallel sides are in ratio 2 : 3
and the perpendicular distance between them is 16 cm, find the smaller
of parallel sides.
m gFlleussFHar ugiy 160 GF.152. SeuBBlear SemeniLsdmISeT 2 @ 3 6161
AlFHHHL  SiwwhleTener. SuBBBG < QwLBw o 6en  OFHIGHI
OFTemeve] 16 GF.15 eTedled, DIFeL Flwl LSSHSHT Hormld wimg?

(GROUP 1, 2019, Section B, 15 Mark)
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